ANATOMY & PHYSIOLOGY:  TEETH & GUMS          OUTLINE FOR NOTES
HEALTH CARE CAREERS



    NAME:  _________________________________
1.  Human beings have two sets of teeth. They begin with a temporary set of teeth, called the 



__________________________ teeth… or baby teeth.  They include 8 incisors, 4 
canines (cuspids), and 8 molars. Rarely, a baby is born with a tooth or gets a tooth very 
early. 

This pre-baby tooth is called a neonatal or ____________ tooth, and falls out when the 



real baby teeth start erupting at an average age of ____________________. The lower 
central incisors usually appear first. 
2.  Permanent teeth develop from the same tooth bud as deciduous teeth. Baby teeth serve as space-savers for the permanent teeth, and are important in the development of the jaw. The baby teeth do have roots, but those are resorbed (dissolved) as the permanent teeth begin to push upward.  The roots provide a hole for the permanent teeth to emerge. 
The full set of baby teeth have erupted by age ________.
3.  Baby teeth begin falling out around age 6, and are replaced by permanent teeth. By age ___ most children have 28 of their _______ permanent teeth. The first permanent teeth to erupt are the 1st molars.  The four  ______________________ do not erupt until the age of 17-________.
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4.  The 8 ______________________ are shaped like a shovel, and have a sharp cutting edge. In rodents, they wear away during gnawing and continue to grow throughout the lifetime. 

5.  The 4 ______________________ (cuspids) are longer and stronger than the incisors, rooted deeply into the bones of the jaw. 
Pointed upper canines are commonly called _________ teeth; 
 their function is _______________________ food.

6.  The 8 __________________________ are also called the premolars. Rather than having a sharp or 





          pointed top edge, 
they have a wider surface with 4 ________________ or elevations. 
They are well-suited for ________________________ action.
7.  The 12 molars are the largest of the permanent set of teeth, with 4, and often 5 cusps for grinding. 
The 3rd molars, or _____________________ teeth, are often pulled because they do not emerge in the correct position.  
When they come in nearly sideways, they are called _____________________________.
8.  There are 3 parts  to every tooth:

__________________________:  portion above the gum line

__________________________:  embedded in the gum

__________________________:  between the crown and neck
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9.  Interior anatomy:

______________:  soft interior cavity

________________________:  thin bone layer covering 




        and protecting the root

________________________:  the solid, most bulky 





       portion of the tooth interior

________________________:  hard covering on 





       exposed part of tooth

________________________:  narrow tunnel for blood 


                             vessels and nerves to 




        enter pulp
10.  The _____________________  ______________________ (Ā pick ul / foh RAY men) is the tiny opening into the  bottom of the root canal tunnel.  It allows blood vessels and nerves to enter and supply the pulp of the tooth. There may be one or more canals in each root of the tooth. 
A root canal dental procedure: drilling out the unhealthy or injured portion, refilling it with a synthetic substance, and recapping the tooth.
11.  The gums or _________________________ (JIN jah vah) are mucosal tissues that sit on 

top of the ______________________________ (al VEE oh ler) bone.  Coral-pink in color, 
this soft tissue surrounds the teeth and forms a seal around them.  

A shallow groove called the gingival _____________________ (SULL kuss) surrounds 
the neck of each tooth.
12. Good gum health is essential to tooth health.  Massaging gums increases circulation and improves gingiva health. 
______________________ gums or other gum disease is responsible for nearly 1/3 of all adult tooth loss. 
It  may be caused by bacteria left between the teeth, ______________________ (BRUCKS ism) or unconsciously gnashing the teeth, use of chewing tobacco, or piercings of the lip or tongue.
13.  Oral hygiene refers to the practice of keeping the mouth and teeth clean. This prevents 
_____________________________ (pair ee oh DAUNT ul) problems, involving the teeth or gingiva, and bad breath. Once or twice daily brushing with a mild abrasive and flossing with a wax-coated string is recommended. 
12.  Brushing and flossing helps control the formation of dental ___________________, also 

called _______________________ or _________________________. Dental plaque is 
an accumulation of mineral film on the surface of the teeth. It is usually colorless, or 
stained by food or beverages. Once it forms it must be removed by a professional using 
scraping or ultrasonic tools.  Unless this is done, gingiva will become irritated and 
inflamed. 

13.  Acid-forming foods left on the teeth, mouth, and tongue de-mineralize tooth enamel, causing cavities or holes. The cavity will eventually expose the nerve-filled pulp, and cause pain. 
The cavity must be drilled out, cleaned, and filled with gold, silver ____________________ (mercury alloy),or tooth-colored composites, ceramics, or inlays. 
14.  There are 3 ways to replace missing teeth:  

A dental ____________________ or ________________ can be anchored to 
neighboring teeth OR

_______________________ can be used to replace single teeth. 
15.  _________________________ can be built  and fit to replace all of the teeth.  
1.  The skeletal system is composed of _______ bones that, along with ________________, _______________, and ____________________, make up the framework or skeleton of the body. 
2.  The skeleton can be divided into two main parts. The __________________ skeleton consists of 80 bones. The primary bones of the axial skeleton are the skull, spine, ribs and sternum (thorax). 

The __________________________ skeleton consists of 126 bones. The primary bones of this skeleton are the shoulder or pectoral girdle, arms, hands, pelvic girdle, legs, and feet. 

3.  Bones are composed of about 50% water and 50% a solid, calcified, rigid substance known as ______________________ (AH see us) tissue. Bones have 6 functions:

A.  Bones provide ______________________________________________ of the body.
B.  Bones protect _________________________________________.
C.  Bones serve as a ____________________________________________ such as    

      salts, calcium, and phosphorus.

D.  Bones play an important role in _________________________________ (hee MAT 
      ah poh EE siss)… the formation of blood cells that takes place in bone marrow.

E.  Bones provide a place ___________________________________________.
F.  Bones make ______________________________________ through articulation 
     (manner in which the parts come together at a joint) .

4.  Bones can be classified by shape. 4 of those classifications are: 

A.  ______________bones include the femur (thigh), tibia (larger shin), fibula (smaller 
  
     shin bone),  humerus (upper arm), radius (larger forearm), and ulna (smaller forearm). 
B. ____________________bones include the carpals of the wrist and tarsals of the ankle. 
C.  __________ bones include the skull, sternum (breastbone), and scapula (shoulder 
 
     bone). 
D. _____________________________bones include the vertebrae (spine), and pelvic. 
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5.  All bones have the same features:


A.___________________________ (ĭ PIF ah siss) - growing 

    end

B.____________________________ (dye AF ah siss) - shaft

C. ____________________________(peri OSS tee um) – 

    outside covering

D.  ____________________________ (MED ul air ee)-               
                inner space containing bone marrow 

E.  ____________________________ (en DOS tee um)- lining 



                of medullary cavity 
6.  A ___________________ is a place where two or more bones connect. The manner in which they connect determines the type of movement allowed at that joint.
7.  A _______________________________ (sĭn ahr THROW siss) is a joint that allows no movement. An example would be a cranial suture.


A  __________________________________ (am fee ahr THROW siss) is a joint that 
 
allows slight movement.  An example would be a vertebra.

A ___________________________________(dye ahr THROW siss) is a joint that allows 
free movement in a variety of directions, such as knee, hip, elbow, wrist, and foot.

8.  Types of body movements at diarthrotic joints… 

A.  ____________________________: moving a body part away from the middle. 


B.  ____________________________: moving a body part toward the middle.


C.  ____________________________:  bending a limb


D.  ____________________________:  straightening a flexed limb

E. _____________________________: lying supine or  face upward;  or turning the 
    
    palm or foot upward.


F.  _____________________________: lying prone or face downward;  or turning the 
    
     palm downward.


G.  _____________________________: moving a body part in a circular motion


H.  _____________________________:  moving a body forward.


I.  ______________________________: moving a body part backward.


J.  ______________________________: bending a body part backwards. 


K.  ______________________________:  turning inward.


L.  ______________________________:  turning outward.


M.  ______________________________: moving a body part around a central axis


N.  ______________________________:  sitting straight up or reclining slightly;  
 
     
     legs straight or bent.


O.  ______________________________: (TREN duh len burg) lying supine with head 
     
     lower than feet.


P.  _______________________________: lying on your left or right side

9.  The vertebral column is composed of separate bones called _________________________, connected to form four spinal curves. A curve has more strength than a straight line, so can support the weight of the body and provide balance needed to walk.
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10.  The _______________________ curve contains the first 7 vertebrae; 
the ______________________________ curve contains the next 12;  
the ___________________________ curve contains 5. 
The _________________________ curve does not contain vertebrae. It contains the…
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 ____________________and _________________ 
(KOCK siks) or tailbone.
11.  The pelvis is the lower portion of the trunk of the body. The hip bones, sacrum, and coccyx 
       form the ________________  ____________________. 

Hip bones include the ________________(Ĭl ee um), ______________ (PYU bus), and 

_________________ (ISS kee um).  

The _______________ pelvis is shaped like a ________________and is heavier and 
stronger than the female. 

The __________________ pelvis is ______________ to round, and wider than the male.
12.  Bone is continually remodeled. It is broken down by ____________________________ in a process called ______________________, and formed again by ________________________.  Bone formation and healing slow down as part of the aging process.
13. ___________________________________ is an age-related loss of bone mass or density. 

      An ANTERIOR view is a view from the front.  A POSTERIOR view is a view from the back.
